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Page 86 — Pie Charts

1)

True. The 55+ sector is half

of the pie chart, so half of the
people must be under 55 too.

(1 mark)

False. The angle for 19-30 is 607,
which is only twice as big as the
30° angle for 0-18. (1 mark)
True. The 31-54 group is 90°
=1 quarter of the pie chart,
which is 60 + 4 = 15 people.

(1 mark)
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=24 + 6 = 4 matches. (1 mark)

' Page 87 — The Mean

1)

2)

4+6+8+2=20
20 + 4 =5 (1 mark)

2+3+5+8+12=30
30 +5=6 (1 mark)

10+ 15+ 7 + 15 + 13 = 60 mins
60 + 5 = 12 minutes (] mark)

75 + 85 + 80 + 60 = 300 kg
300 + 4 = 75 kg (1 mark)




